Efficiency vs P,

~ 0.5

o 2
2 0a
NS

AR AR AR LU AR RN LR RN RRRRN RARRN LARLE RRRLN LRR

IENCY VS P

20.35

o +R T
— T - |4
g 1 -l 4+ 1 {4 D
117 4 +
0.95 HIEEE dH e
4 <+ 1
0.9 . > LI H
B 3
10 1 10 2
Hp_ (et

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch3

= 0.2
Y F : : : : :
018 o N T
I F : : : : :
R A A A M08
5] F : : : : :
£0.14 - prpreeeedeeee proceeedeeefpe AR
@ : : : : :
0.12F -+ o (N A B et
0.1F -+ ' : :
0.08
0.06
0.04
0.02
.0

—

Ratio
+
3
:
:
:
%
%
.-
3
.-
%
$
R
.-
;
-
:
+
$
s
.-
&
:

[y

0.95

Efficiency vs ¢

o 0.21
o F
>‘0.18 :
2 F:
90.16_:
(&) -
£0.14F
o :

0.12F

o
©
WS



	Contents
	Page 1


